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(ﬁ'-&@ LOHMILD é;_{,réJéﬂsu GUEQ / Tamil & English Versions)

Gprw : 2% wenfl | [ Qurgs wHUEUTSET : 75
Time Allowed : 2%2 Hours | [Maximum Marks : 75

Sfleyewrr : (1) S@asg elamsseEnd sfluns o&a0 Uglourdl o qTaTST cTaTLgeme
sflurisgs Qerararaybd. HFslufedad Gopuldlude amns
samaraniuurerAd o L angwirs Csflellsse]|n.

2 pab ooz sHUY ov¥@ear LLEGWL dWHMSDEW
23 5CsMg HeusH@GD LwaU(REs CeuamBib. LLBISET UMmTeusSD S
Quendled LwaI(HSSe,LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

GPLy : @éellamssner epenmy Wfloysemars QamesrL_g.

Note : This question paper contains three sections.

19fey - 1/ SECTION -1
(wuGuamser : 15) / (Marks : 15)

GOy : () Quifleflé 2 erer 15 emasens@n feoLwefléEsen. 15x1=15
(i) oL iys ghllger Gsr@ssuul Gerar LTHD e safle
Blsayd sfwren elenLamwsd CorbOsHEE €T (PS6yLD.
Note : (i)  Answer all the 15 questions.

(i) Choose the correct answer from the alternatives given in the brackets.

[ $miys / Turn over
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@ansedlen sniips BRley Crmulemma Lrdssiu Herer el s@TLSED
Ogaser Samseuen_HHHEELD.
(cgpeoun, SiLm, smom, QL)

In persons suffering from insulin - dependent diabetes, the cells of pancreas
are degenerated.

(Alpha, Beta, Gamma, Delta)

Gmhs GPHOSEES (PEer (pseld HaTRsslu@n Coris sHLLE
(umbeuyl GumellGuir, DPT, DPT wpmib eumieufl GurellGuwr, BCG)
The first vaccine injected into a just born baby is _

(Oral polio, DPT, DPT and Oral polio, BCG)

CrriuseL & sTUY waTL@sg L Qg rLfyemLw pretifl@ers &yl
(emgrmi®, engloen, 4L flee, Neflwe)
The endocrine gland related to the immune system is

(Thyroid, Thymus, Adrenal, Pineal)

Bfé sarmereuss langeaw Wssb Qurps auflwurs B
5818lmg).
(Qencvggiener, CavairyQaw, enwsGrmeue, penerGeur)

If a water soaked seed is pressed, a small drop of water comes out through the

(Stomata, Lenticel, Micropyle, Radicle)

WL geb eumevey Qe e sreamiuhEnsg.

(uewg fadlar Lopb wog Qeuar fsddr, QLg o fédar WHmLD
Qe CQaar fafear, awwg Qaarlfsdla LHpL merurad e,
QL g Ceuam fédler wpmb Qumbswe)

Mitral valve is found between

(Right auricle and right ventricle, Left auricle and left ventricle, Right ventricle and
pulmonary artery, Left ventricle and aorta)



10.

3 6830
wrGerm Grrurela, e mreyls Qurmearsmar 2 NEh&Fashara Amliurea
Ceumraer
(anravCLrflwkiser, emwsCsrarsred Carser, unm GCeurser, CaunmlL
Geurraer)

In monotropa the special type of root which absorbs nourishment is the __
(Haustoria, Mycorrhizal root, Clinging root, Adventitious root)

Uiy g wHmib Wss@Eh Qurmersanar perpullermed BaH&HeMLD.
(oo flows ssdafiy, @rarimd Hows ssdaNiiy, aparprd Haad
&sdlsfluy, Cuouriys sasdafiy)

The sedimented and floating materials are removed by this treatment process.

(Primary treatment, Secondary treatment, Tertiary treatment, Peripheral treatment)
WSO PsHSE GallluaTsd saurflés’ LUGLRSSD UTYES®aL

(abellwid - péadiger, sallgen - el rmer, @apL TReT - @bl Femar)
The mixture of gases used by deep-sea divers is

(helium - oxygen, oxygen - nitrogen, hydrogen - nitrogen)

28 4s flwsde deaflsm 2 ararg. sudfled 2 arer Bfaibd
(wr&igd ybled, LriLrflé yblem, HAE fleb)
Vinegar is present in acetic acid. Curd contains acid.

(Lactic acid, Tartaric acid, Citric acid)

Soa55s silws CoromsERsEL SglumLwra saflwib
Lgm@glulles 2_ereng).

(14-eug) CAsr@sluler, 15-eug Cgr@dude, 16-eug QgsmEdude)

An element which is an essential constituent of all organic compounds belongs to the
group.
(14 group, 15t group, 16t group)

[ $hliys / Turn over
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11.

12.

13.

14.

15.

4

_ @raui ureeds GslyluBssy LweTu®BE DS
(erssamen, ergganmuilsd ibleb)
is used for coagulating rubber from latex.

(Ethanol, Ethanoic acid)

Hm@ emell erevug G  @Uen 2.6TeT eTeSEU uflrestd 2 _aTer
Wag Sflu Qurpersamer SjemalBHb &(meSluImELD.

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

Screw Gauge is an instrument used to measure the dimensions of very small objects
upto

(0.1 cm, 0.01 cm, 0.1 mm, 0.01 mm)

o g LIMUTL® S558D@E sowrear QupGud serey ,
(@LUQuuisd), pHEsD, elams, saEFTHES 6flos)
The physical quantity which is equal to the rate of change of momentum is

(displacement, acceleration, force, impulse)

HCameurl_ wenfl eremLg) & VG G-
(Berran(pss Gaumr(, Bendmerr, Wlemanmhme, WlergyrL b)
Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

o Garss sLsH@d urynd BaGear L egoas spdl P
> (HEUTESGLD.

(smhsl Lo, eThdly ellens, gram( BlenGemm_L D)

An electric current through a metallic conductor produces around it.

(magnetic field, mechanical force, induced current)
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Wfley - II/SECTION - II

(HuGuarser : 40) / (Marks : 40)

G sTemeuGuigy|Ld Bmus eflenmasené@E el welldsayib. 20x2=40
Note : Answer any twenty questions :
16.

17.

18.

5‘_—.‘52@5&11%“-! ueTLsar gLo Spdlensdn@erentn, CufasHn@enend wrmuEHLD.

Epésramid LaT s arEs@aw LIYLTRE Qsrar@erarar aras GHILIADE.

@) wailss samerflar Hipb Bew, sy, LUy, uFme erar wrmu@BEng.
Qeucuans wrmur@ eramu(pLb.

() pwed, wrener GurenmeuHbled SrapTiiLIHLD L) BjeoLiL WML (HETerg).
Qeucuenas wIHUTHSET eramiu(hiD.

The inheritable characters vary in different species and within the same species. Name
the variation in the following cases.

(i)  The eye colour among the human beings are varied as blue, black, brown, green
etc. This is called as variation.

(i) The dentition in the rabbit and the elephant are not the same. This is called as
variation.

wryy Qurdluwed eremmed ereme ?

What is Genetic Engineering ?

SaTeTaupmIET SGHS Pevamsmarts CUTHSEIS.

(ompgise, erll@urmer, peamgyuifl, auertélens wrHpw, sfo SokiseT)
i) sOUY WHHS (i) Qupems eumy

(i) A A& bl (iv) emeulLlenger

Match the following by identifying the pair :

(medicines, fuel, microbes, metabolism, organic acids)

(i) Vaccine, (i) Natural gas,

(i) Citric acid, (iv) Vitamins

[ muys / Turn over
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19.

20.

21.

6

wrravwey LHYDL GaurefCurisr Cprusd UTss GenmUTL L TeD
Fhu@Ssmmar. wrrevwed CHMi, GauredGurist Cprudalmbs 2w auuilp)
OO WPESHD aiEsd o dw SANGNSET epald Gmgu@aﬂ@ﬂ)ﬁﬂ. @ &sanm)
sflur ? seuprs QmUGan Hmsd o psis.

Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs
from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? 1f not, correct it.

£Cy o dtar LLE®S warhg QsrRssLILL Garer GHILLseflen o gaflume
UTERISMETS &0 &S,
Copy the diagram and label the parts with the help of the clues given :

i) Q& Ambrssden Bg emwbgeTer &g,

(i) Q& &T&EGEWL anTiGranser 2,oGCLTaveCrrear LHMID &g CaVTET By @LD.
(1) It is otherwise called supra renal gland.

(i) It secretes two hormones, namely aldosterone and cortisone.

CQerB&sULL(HeTer UL Mg uaThgl S(PETeT LTSHREMETS GHl&Eseab.
(i) er&emeven i) @em Hluysefwe

Draw the given diagram and label the following parts.

(1) Exine (i) Tube nucleus



22.

23.

24.

LITen a6 6T E @Qeﬁ]éo eur

GINCICES
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L @LLSD dupmeTer gaeuenliysaflcr preardeamen

Mention any four adaptations seen in the camel so that it can live successfully in deserts.

QansHo Aurmpstswss CorpOsss oss.
@)  @Gerryaliar, GGemmapmaen, SanuINGammmen, p@LSler

(i)

Pick out the odd one out.

(i)  globulin, glomerulus, fibrinogen, albumin

(i)

letrau(mid i L euenamtenws BliriiLs.

weewrBser, tsrbyanw Qsnbodur@asdr, srgdaedr, &o.

mountain goat, big horned sheep, grizzly bear, seal

sfley £58 2 iy | QeueflGupmd sifley sfleyls Quinmenaen
wflwm, wfé <idlew,

SmBrsn Smdr Aflwm’ g eflerr Cumenn
W&EW anpLrmen s e ser

' QeuaflGumm LD
mianTuiyed .
&)

Gari é{@&tﬁ.ﬂ'@ﬂ B Hmd

2 UiL&ar

Complete the table given below :

Excretory organ Disposed as Excretory products
Kidnieys Urine Nitrogenous waste products -
Urea, Uric acid, Creatinine etc.
Lungs Exhaled/Expired air
Skin Excess water and salts

[ &®Uys / Tumn over
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25. GarHssuuligmeEh UL soss seualss.
() UL A, B-& sremrliL(d Quisshismers GHUENHS.
() erevaury Qeafussnssr GsriLrd Hapmd @) om0 & @il 6o
Qussnisaiial(mhg Caumu@demen ?
Observe the diagram.

(i) Mention the type of movements shown in figure A and B.
(i) How does this movement differ from the movement of mimosa ?

26. STHESMTEH HOTFD BOFANTONE LTHHOL S DE).
() Cuhsar Qewdle assmawu Hapss peL QupEng ?
i) orps memapuifl FHUGSDg ?
Sugar solution is converted into alcohol.

(i) In the above reaction what kind of process takes place ?
(i) Which micro - organism is involved ?

27. &pésramuepenl CUTHSSS.

A b
(a) ibCGwraflumr GLedls (i) eueMETHHMEL LY(H&EET
) wACwr@Lelé (i) Bensar
© whGaraLdlé (i) LTI Ig&ET
d) Qpufgurssar (iv) UDEeUSET
Match the following :
A B
(a) Ammonotelic (i) annelids
(b) Ureotelic (i) fish
(c) Uricotelic (iii) mammal

(d) Nephridia (iv) birds



28.

29,

30.

31.

32.
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Sletreumeuareupennl LwWETURSS o aeyd Fridlallanw o (HeursEs.
(Umby, ye, sp@. geuamer, Qeaul(Hédlef)
Depict a food chain by placing the following organisms in the correct trophic levels.

(Snake, Grass, Eagle, Frog, Grasshopper)

Curé@eursg arsamsaie LwaL@EHsLUGL Sreu eudfl erAGumBaTsar
wreney ? (ereneuCGgyid Bren)
What are the various liquid biofuels for transportation ? (Any four)

wrdluerer, SwmwulGun @ueb, HEbulun @QUETS ek &emer
Wpepwrs Clummes!s.

QUGB &ETT A B C
LUUQumD
Ao _ _Q' &l &STHm CuL_Grmedluib
GUGITIRIGGIT
bulCu flwepefl
AG _D _ manl Tmer | @uIDens eumu] & _ @_
Quers T &eET <4,HME

Match the suitable renewable and non-renewable sources.

Sources A B 44
Renewable Coal Wind Petroleum
Non - Renewable Hydrogen Natural gas Solar energy

ve Wleadlwer 24, (H&EREE Weanm Leiluild LenguarrL sreurls Qummeraer
AangeuenL_pgsred Lig rfummersear o mpourufear. eraneuCuigyd @rar®
Lo erAQurmeTaemers samis.

Fossil fuels are formed by decomposition of biomass buried under the earth over millions
of years ago. Name any two fossil fuels.

Greraflwen @uissD erammmed eremma ?

What is Brownian movement ?

[ &muys / Turmn over
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33.

34.

35.

36.

37.

10

20 & sepLwe 2 Lienu 50 & Bl sersHHHSTD DSSMTFD Qedellan 55655
Bleppenwis sewréd (s,

Find the concentration of solution in terms of weight percent if 20 g of common salt is
dissolved in 50 g of water.

crananilsmamus sansd () s.
Calculate the number of moles in 12.046 x 10?2 atoms of copper.

A, B eretim @ iflemser pameuuie eneudssliuL (HeTere. A-jbleTeng)

pile ugHuaGer WfmsumLdng. <pamd B-bloLrag) (PpEnLOWITE L

Gflenswen_&mg.

i A B fleonsefle audaw Gonss bl g ? audaw WBGHS
Silevd erg) ?

i) awdlow Gophs BwsHdED, wdmw HNEHE ABDSHDGD @
T (HEGI&E ST H(HS.

Two acids ‘A’ and ‘B’ were kept in beakers. Acid ‘A’ undergoes partial dissociation in

water, whereas acid ‘B’ undergoes complete dissociation in water.

(i)  Of the two acids ‘A’ and ‘B’. Which is weak acid and which is strong acid ?
(i) Give one example for weak acid and strong acid.

Aurpsrsmss CoTEEs058 T WEs.

(i) seflw Blemser : HCl, HNO;, H,SO, HCOOH

(i) &mrésemew : @rHsbd, Fwwwed Gerim, edafst, eSLGUUWETLTH
<Gwreflwimr

Pick the odd one out :

(i) Inorganic acids : HCI, HNO,, H,S0O,, HCOOH

(i) Basic Nature : Blood, Baking Soda, Vinegar, Household ammonia

soupran aurEdlugamss HHsE eT(pgs.

i) @rarireag Qs gndw Asrii @n. Qo GQranmh geafomisar
wL_(HLD 2 _eTeTe.

i) 18 o AsrEds salvmsda GCanborgea GOLUDL TP Pss U
um &l erme.

Correct the mistakes, if any in the following statement.

(i) Second period is a short period. It contains only two elements.

(i) Group 18 elements are called Halogen family.



38.

39,

40.
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2 NISILLBSGISE : sMOL ursSlrmser gniewliuBssUuLeldame erafle,
ugems Biml Ligeud Caremdng.

SITEwILD QBsLr Ly sHDarer sryaThd &Trd sTlré sriuGer

(1) 9—@@““@5@,&5@ OHMLD sryeRTd . sryewrd sflwrs Gummbsidns).

(<=8) &le‘f’]ﬁu@g@g@ #fl. sryewrd sflwres QurpHedldeme.

Assertion : A greenish layer appears on copper vessels, if left uncleaned.

Reason : Itis due to the formation of a layer of basic copper carbonate.

(@) Assertion and reason are correct and relevant to each other.
(b)  Assertion is true but reason is not relevant to the assertion.

parmsMi LSLLGSSRISGU LwetURb (A) eran &flwg Gersdar epadam)
eumoiur® CH,0,. @&Gamob erggamaL e elemanfbg @eflw wampenw
Gerrob (B) -evwd &g

() Gemwob A wPHmIb B -evws sanm(idiy &s.

(i) @uepempulie GuuCrd, g Caudsd swaUT oL TWas.

An organic compound (A) is widely used as a preservative in pickle and has a molecular
formula C,H,0,. This compound reacts with ethanol to form a sweet smelling
compound (B).

(i)  Identify the compounds A and B.

(i) Name the process and write the corresponding chemical equation.

aDm (A): &1he @Hdense] WbuwLTEEL (MRI) wanuld g bés
EMhgLILOEMS Laflg 2 L 6 o arepmliysate sar@meud Qauig,
auflggamGenTT_L b (scanning) @)L LU g

a&nrewtd (R) @ cudlenwrer srpsULOSSTD S0 UGHDe 6 &mamrL
“bumgmerts GuDeTLD.

(<=1) (A) seuprengy, (R) #flwreng

(=) (A) sflwrengy (R) geupreng

(8) (A), (R) Qran(o seupreng)

() (A) efluneng), (R), (A)-g wallynssEDS!

Assertion (A) : MRI is used to scan the inner organs of human body by penetrating
very intense magnetic field.

Reason (R) : By use of very intense magnetic field, very high resolution images can

be obtained.

(A) is incorrect and (R) is correct.

(A) is correct and (R) is incorrect.

Both (A) and (R) are incorrect.

(A) is correct and (R) supports (A).

a
b

—_—
—

—— —
e
ao

[ $l(mLiys / Turn over
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41.

42.

12
18 & feopuerar g Aumer 20 5 e wrsHd @OBS TP i
ST aUbSOLBsgD, 265 Causssa Cuolawspg. =-bE LOMELITL-EPL-5
srans. (g = 10 15/692 erens)

An object of mass 1 kg is dropped from a height of 20 m. It hits the ground and

rebounds with the same speed. Find the change in momentum

(Take g = 10 m/s?)

QuIEBSHS :

2 MILIL|&eT GG

@) | e sevid (i)

®) |sred (=) s a (pgwg)| @ | F =

(©) |sD9 @anewTiiL (i) | —WW—
(d) | e senL ) | ——(o)—
Match the following :
COMPONENTS SYMBOLS
(a) |An electric cell (i) l

(b) |Plug key (or) switch (closed) | (ii) SES ' o

(c) |A wire joint (1) — AN

(d) |A resistor of resistance R (iv) (o)




43.

44.

45.

- 6830
GeEMgl L QL Risenar Blriiys.
() Wemanss Caumgur® : Ceurdrl B L, eraflés WeGamL Lib :
(i) Brdler Heveowid : wyysTi W HD®, erafled @fw BpHmed :
Fill in the blanks :

(i) Potential difference : Voltmeter ; then Current :

(i) Hydro power plant : Conventional source of energy ; then Solar energy :

QuEBmsLe® Ceuliu OO GNSSH 6T(HEIs.

Write about ocean thermal energy.

Qeneumd s euenruLd GPwrguie Gbuw Carepemss GHlEELD.
(=) sflauerar Weppawid searmLHbg), Gepwpn 5T UETULLD QUaTWaLD.

() 2 ugar HmsssHnanan lleésd e,

The ray diagram shown below is introduced to show how a concave mirror forms the

image of an object.

(a) Identify the mistake and draw the correct ray diagram.

(b)  Write the justifications for your corrections.

SN

[ &®mUys / Turn over
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46. < GemAlm cudEms elews snpy.

Define Fleming's right hand rule.

47. @ GelQaadladmbg 25 Q&8 Cgraaaien 2 emar (b QI (HET @weﬁr&&@
Qemenmedy 20 Qg8 Agrevaveder AbUSDS THUGSHEDS srafled, Qeverélen
Gelwg CsTenevey eraman ?

If an object is placed 25 cm in front of the converging lens forms an image 20 cm
behind the lens, then what is the focal length of the lens ?

19fley - I1I/SECTION - III
(nduiQuaimger : 20) / (Marks : 20)

@iy : () g@aGeurm uEHUS®HBHIL R adarr eSsLd HIEsI(E 9\ G &:8(EHE S
ofen_weflEsey. 4x5=20

i) eeQaurm efameihEd LBl &GS EHET.
(i) Caemeuwran GLhs6N® LLD eIaMTS.
Note : (i) Answer any four questions by choosing one question from each part.

(i) Each question carries five marks.

(iii) Draw diagrams wherever necessary.
u@&d - I/PART -1
48. o msar ugdude wGaflur ureld 2 arerg).

(=) @smeans s_HULBSS o g6 LGHuller 2 M AQIUOTHEEHEES 5EHS
2 CrFmar QUPEIGS.

(<) wCaAwredan flwrer Gomi M@Dudener 6r(pgs.
There is a widespread outbreak of malaria in your area.
(a) Suggest some controlling measures to the local authorities concerned.

(b) Write the symptoms for malaria.
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49. (1) &G Qar@amii Garer Qsmhaaer amaubg), LsSaow BHriys.
(@ﬁ@ﬁn@mqg Carii, euGur Cuol L, rsami® emp, epear
2-DDSE, Iq.uyrm Gl L)

QDLDU‘{ By LaT_senss shBlujerer ppeTn LTESTIL 2 D&6, L6
Qmﬂggygwa___(_l_)__gr@@ SdsslL@Seapar. wameLGwr® wHmib
—@  é5 spde Siowhgarer Qeuafliyp QrloLd sger 2.op
__(3_)__51'661 SAPWESLULHEDS. Quaelwgbd, @rss HraThGaeTL
Qtfﬂ)mg;mrran O 2apsE (@) eaemy QU ep@marawuybd,
sTHULS@SUD &) QABm&sLIs sewhgaer o L yn Glweaoelw
2om&E ()  eremmy Quuwi.

() Bh& uerswTer BrioLE Gsdsefar QUUTEMmer (PG!S
(a) Use words from the given list to complete the following paragraph.
(Vertebral column, Piamater, Arachnoid membrane, Meninges, Duramater)

The central nervous system is covered by three protective coverings collectively
called (1) . Theoutermostcoverlying below theskulland _ (2)  isdouble
thick and is called  (3) . The middle covering is thin and vascularised and is
called (4) . The innermost cover is a very thin delicate membrane and is
closely stretched over the outer surface of Brain and Spinal Cord and is called

G .
(b)) Name any 5 types of nerve cells.
u@$ - 1I/PART - 11

50. @ elsdamed STeuT aflengullen Si@wlieoul uLsgL e eleufés.

Describe the structure of a dicot seed with a neat diagram.

51. (=) user Caugluilwe ETEMTED GTEuE ?
(<) L&D Geudludlwedl e NleneTaumed 2 (HaurEsLIUL S Salgll eTismel
QummL_a6T wreneu ?
(a) What is Green Chemistry ?
(b) Write the future products of Green Chemistry.

[ $mUuys / Turn over




6830

16

u@d - 111/PART - 111

52. @f Sigmemeuls updlu Qgefeurar ciladasms 2iafl&sssms L pelan IS
QaraTenswLTag Dmas Qardas, Haoulaens Gam ur@®, sHéurmsL
@O LIS @y dweupans QaETaTH 2 (HeuTaSTEL. @ouplen epevLo
peien oigmé Qsrarasuier Carlur@smen efaflés.

Modern atomic theory takes up the wave concept, principle
latest discoveries to give a clear cut picture about an atom. State

of uncertainty and other
the findings of modern

atomic theory.

53. sissmrs sPleyluTdadmbg sz swMiléG pape afeurl.

Explain the manufacturing of Ethanol from Molasses.

54. (=

u@d - IV/PART - IV

) Bl Laflan wso @Quéss ffl, eflamsuar LU PG AER

Qéammpenn Hlwmuiuh 55,

(<=4)10 8, 15 & Hepydrer Qurmerse wapGw 10 Be9 -1, 5 Bl !

(a)
(b)

Caussdd Qedamss UL sTLHEDS. ime Curd &0 smerdlanper.
Gurgeer Gurg dAmes QT [H&EETETEHL Gprb 2 eNerTig&er.
Cursaseldar s@a opGu 4 Bal~', 9 86l ~1 Cousgdle
Qevdeman. erafled F;, F, @oupennsd Hrens.

Fi F

-

10 m/s 5m/s i 4m/s 9m/s
THONCORCHOR

Newton’s first law of motion gives a qualitative definition of force. Justify.

The figure represents two bodies of masses 10 kg and 15 kg, moving with an
initial velocity of 10 ms ~!and 5 ms~ I respectively. They collide with each other.
After collision, they move with velocities 4 ms ™' and 9 ms "k respectively. The
time of collision is 2 s. Now calculate F; and F,.

Fy
10m/s 5m/s

F)
> <
TN dm/s ~9m/s
4 15 kg 4@@; 15 kg 694@4
.\ — \\-‘—-

55. umieeud G@DUTHs®s GHUGL®H Seupap eleufl. Beuheanm Greueumy
&M Qawwerd ?
Gtate and explain the defects of Vision. How can these defects be rectified ?

-000-



